

Research Article

Approximation Properties of λ -Gamma Operators Based on q -Integers

Wen-Tao Cheng¹ and Xiao-Jun Tang² 

¹School of Mathematics and Physics, Anqing Normal University, Anhui 246133, China

²School of Mathematics and Physics, Jinggangshan University, Ji'an 343009, China

Correspondence should be addressed to Xiao-Jun Tang; 466352945@qq.com

Received 2 June 2020; Revised 21 August 2020; Accepted 23 September 2020; Published 21 October 2020

Academic Editor: Serkan Araci

Copyright © 2020 Wen-Tao Cheng and Xiao-Jun Tang. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In the present paper, we will introduce λ -Gamma operators based on q -integers. First, the auxiliary results about the moments are presented, and the central moments of these operators are also estimated. Then, we discuss some local approximation properties of these operators by means of modulus of continuity and Peetre \mathcal{K} -functional. And the rate of convergence and weighted approximation for these operators are researched. Furthermore, we investigate the Voronovskaja type theorems including the quantitative q -Voronovskaja type theorem and q -Grüss-Voronovskaja theorem.

1. Introduction

Gamma operators are very important positive linear operators and have been widely used in probability theory and computational mathematics. For $f \in C(\mathbb{R}^+)$, $n = 1, 2, 3, \dots$ where $\mathbb{R}^+ = (0, \infty)$ and $C(\mathbb{R}^+)$ be the space of all continuous functions f on the interval \mathbb{R}^+ , the Gamma operators were introduced in [1] by

$$G_n(f; x) = \frac{1}{n!} \int_0^\infty e^{-t} t^n f\left(\frac{nx}{t}\right) dt, \quad x \in \mathbb{R}^+. \quad (1)$$

We can learn some properties of Gamma operators and their modified operators in [2–7]. In [8], Qi et al. defined new Gamma operators as follows:

$$G_{n,\lambda}(f; x) = \frac{1}{n!} \int_0^\infty e^{-t} t^n \left(\frac{n}{t}\right)^\lambda f\left(\frac{nx}{t}\right) dt, \quad x \in \mathbb{R}^+. \quad (2)$$

where $f \in C(\mathbb{R}^+)$, $\lambda \in \mathbb{N} = \{0, 1, 2, \dots\}$. Obviously, if $f^{(\lambda)} \in C(\mathbb{R}^+)$, then $(G_n(f; x))^{(\lambda)} = G_{n,\lambda}(f^{(\lambda)}; x)$. Meantime, $G_{n,\lambda}(1; x) = (n^\lambda (n - \lambda)! / n!) \neq 1$ (while $\lambda \neq 0$). In order to preserve the constant, we defined λ -Gamma operators as follows:

Definition 1. For $f \in C(\mathbb{R}^+)$, $\lambda \in \mathbb{N}$, $n = \lambda, \lambda + 1, \dots$, the λ -Gamma operators are defined by

$$\mathcal{G}_{n,\lambda}(f; x) = \frac{1}{(n - \lambda)!} \int_0^\infty e^{-t} t^{n-\lambda} f\left(\frac{nx}{t}\right) dt, \quad x \in \mathbb{R}^+. \quad (3)$$

Let us recall some useful concepts and notations from q -calculus, which can be founded in [9–11]. For nonnegative integer i , the q -integer $[i]_q$ and q -factorial $[i]_q!$ are defined by

$$[i]_q = 1 + q + \dots + q^{i-1} = \begin{cases} \frac{1 - q^i}{1 - q}, & q \neq 1, \\ i, & q = 1, \end{cases} \quad (4)$$

$$[i]_q! = \begin{cases} [1]_q [2]_q \dots [i]_q, & i \geq 1, \\ 1, & i = 0. \end{cases}$$

Further, q -power basis can be defined by

$$(x+y)_q^i = \begin{cases} (x+y)(x+qy) \cdots (x+q^{i-1}y), & i = 1, 2, \dots, \\ 1, & i = 0, \end{cases}$$

$$(x-y)_q^i = \begin{cases} (x-y)(x-xy) \cdots (x-q^{i-1}y), & i = 1, 2, \dots, \\ 1, & i = 0. \end{cases} \quad (5)$$

The q -derivative $D_q f$ of a function f can be defined by

$$(D_q f)(x) = \frac{f(x) - f(qx)}{(1-q)x}, \quad \text{if } x \neq 0, \quad (6)$$

and $(D_q f)(0) = f'(0)$ provided $f'(0)$ exists. High-order q -derivatives can be defined by $D_q^0 f = f$, $D_q^i = D_q(D_q^{i-1} f)$, $i = 1, 2, \dots$. The formula for the q -derivative of a product is $D_q(f(x)g(x)) = D_q(f(x))g(x) + D_q(g(x))f(qx)$. We easily know that if a function f is continuous on an interval which does not include 0, then f is continuous q -differentiable.

The q -improper integral of function f can be defined by

$$\int_0^{\infty/1-q} f(t) d_q t = \sum_{i=-\infty}^{\infty} f\left(\frac{q^i}{1-q}\right) q^i, \quad q \in (0, 1). \quad (7)$$

The q -analogue of the classical exponential function e^x is

$$E_q(x) = \sum_{i=0}^{\infty} q^{(i(i-1)/2)} \frac{x^i}{[i]_q!} = (1 + (1-q)x)_q^{\infty}, \quad q \in (0, 1). \quad (8)$$

The q -Gamma function is defined by

$$\Gamma_q(s) = \int_0^{(\infty/1-q)} x^{(s-1)} E_q(-qx) d_q x, \quad s \in \mathbb{R}^+, \quad (9)$$

and satisfies the functional relation: $\Gamma_q(s+1) = [s]_q \Gamma_q(s)$, $\Gamma_q(1) = 1$. Moreover, for any nonnegative integer $i > 0$, the relation holds: $\Gamma_q(i+1) = [i]_q!$.

Now, we construct the q -analogue of λ -Gamma operators using q -Gamma function as follows.

Definition 2. For $f: \mathbb{R}^+ \rightarrow \mathbb{R}$, $q \in (0, 1)$, $\lambda \in \mathbb{N}$, $n = \lambda, \lambda + 1, \dots$, the q -analogue of λ -Gamma operators (3) are defined as

$$\mathcal{E}_{n,\lambda}^q(f; x) = \frac{1}{[n-\lambda]_q!} \int_0^{\infty/1-q} f\left(\frac{[n]_q x}{t}\right) E_q(-qt) t^{n-\lambda} d_q t, \quad x \in \mathbb{R}^+. \quad (10)$$

The paper is organized as follows: In Section 1, we introduce the history of Gamma operators, recall some basic notations about the q -calculus, and construct λ -Gamma operators based on q -integers with q -Gamma function. In

Section 2, we obtain the auxiliary results about the moment computation formula. The second- and fourth-order central moments computation formula and other quantitative properties are also presented. In Section 3, we discuss local approximation about the operators by means of modulus of continuity and Peetre \mathcal{K} -functional. In Section 4 and Section 5, the rate of convergence and weighted approximation for these operators are researched. In the last section, we firstly prove quantitative q -Voronovskaja type theorems in terms of weighted modulus of continuity, and then the q -Grüss-Voronovskaja theorem in the quantitative mean is also presented (for the quantitative q -Voronovskaja type theorem0 and the q -Grüss-Voronovskaja theorem for the other operators, see also [12, 13]).

2. Auxiliary Results

In this section, we will give some lemmas and corollaries, which are necessary to obtain the approximation properties of the operators $\mathcal{E}_{n,\lambda}^q(f; x)$.

Lemma 3. For $q \in (0, 1)$, $\lambda \in \mathbb{N}$, $i \in \mathbb{N}$, $n = \lambda + i, \lambda + i + 1, \dots$, the following formula holds:

$$\mathcal{E}_{n,\lambda}^q(t^i; x) = \frac{[n]_q^i [n-\lambda-i]_q!}{[n-\lambda]_q!} x^i. \quad (11)$$

Proof. According to the properties of q -Gamma function, we have

$$\begin{aligned} \mathcal{E}_{n,\lambda}^q(t^i; x) &= \frac{1}{[n-\lambda]_q!} \int_0^{\infty/1-q} \left(\frac{[n]_q x}{t}\right)^i E_q(-qt) t^{n-\lambda} d_q t \\ &= \frac{[n]_q^i x^i}{[n-\lambda]_q!} \int_0^{\infty/1-q} t^{n-\lambda-i} E_q(-qt) d_q t \\ &= \frac{[n]_q^i x^i \Gamma_q(n-\lambda-i+1)}{[n-\lambda]_q!} \\ &= \frac{[n]_q^i [n-\lambda-i]_q!}{[n-\lambda]_q!} x^i. \end{aligned} \quad (12)$$

Lemma 3 is proved.

Corollary 4. By the lemma given above and some elementary calculations, we can get the results

$$A(x) = \mathcal{E}_{n,\lambda}^q(t-x; x) = \frac{q^{n-\lambda} [\lambda]_q}{[n-\lambda]_q} x \quad \text{for } n \geq \lambda + 1,$$

$$\begin{aligned} B(x) &= \mathcal{E}_{n,\lambda}^q((t-x)^2; x) \\ &= \left(\frac{q^{n-\lambda-1} [\lambda+1]_q}{[n-\lambda-1]_q} - \frac{q^{n-\lambda} [\lambda]_q}{[n-\lambda]_q} + \frac{q^{2n-2\lambda-1} [\lambda]_q [\lambda+1]_q}{[n-\lambda-1]_q [n-\lambda]_q} \right) x^2 \quad \text{for } n \\ &\geq \lambda + 2. \end{aligned} \quad (13)$$

Lemma 5. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$. Then, for each $x \in \mathbb{R}^+$, $A_n(x) := \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)$, $B_n(x) := \mathcal{E}_{n,\lambda}^{q_n}((t-x)^2; x)$, we can obtain

$$\lim_{n \rightarrow \infty} [n]_{q_n} A_n(x) = \lambda ax, \quad \lim_{n \rightarrow \infty} [n]_{q_n} B_n(x) = ax^2, \quad (14)$$

$$\mathcal{E}_{n,\lambda}^{q_n}((t-x)^3; x) = O\left(\frac{1}{[n]_{q_n}^2}\right), \quad (15)$$

$$\mathcal{E}_{n,\lambda}^{q_n}((t-x)^4; x) = O\left(\frac{1}{[n]_{q_n}^2}\right), \quad (16)$$

$$\mathcal{E}_{n,\lambda}^{q_n}((t-x)^6; x) = O\left(\frac{1}{[n]_{q_n}^3}\right). \quad (17)$$

Proof. By Lemma 3, we can easily get (14). Without loss of generality, we only prove equation (15). Equation (16) and equation (17) can be proved in some way. Set $\mathcal{E}_{n,\lambda}^q(t^i; x) = C(i)x^i$, $i = 1, 2, 3$, and $\mathcal{E}_{n,\lambda}^q((t-x)^3; x) = C(4)x^3$. Using $([n]_{q_n}) / ([n-\lambda-i]_{q_n}) = 1 + ((q_n^{n-\lambda-i}[\lambda+i]_{q_n}) / ([n-\lambda-i]_{q_n}))$, $i = 0, 1, 2, \dots, n-\lambda$, we can easily get

$$C(1) = 1 + \frac{q_n^{n-\lambda}[\lambda]_{q_n}}{[n-\lambda]_{q_n}},$$

$$C(2) = 1 + \frac{q_n^{n-\lambda}[\lambda]_{q_n}}{[n-\lambda]_{q_n}} + \frac{q_n^{n-\lambda-1}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}} + \frac{q_n^{2n-2\lambda-1}[\lambda]_{q_n}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}[n-\lambda]_{q_n}},$$

$$C(3) = 1 + \frac{q_n^{n-\lambda}[\lambda]_{q_n}}{[n-\lambda]_{q_n}} + \frac{q_n^{n-\lambda-1}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}} + \frac{q_n^{n-\lambda-2}[\lambda+2]_{q_n}}{[n-\lambda-2]_{q_n}} + \frac{q_n^{2n-2\lambda-3}[\lambda+2]_{q_n}[\lambda+1]_{q_n}}{[n-\lambda-2]_{q_n}[n-\lambda-1]_{q_n}} + \frac{q_n^{2n-2\lambda-2}[\lambda+2]_{q_n}[\lambda]_{q_n}}{[n-\lambda-2]_{q_n}[n-\lambda]_{q_n}} + \frac{q_n^{2n-2\lambda-1}[\lambda]_{q_n}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}[n-\lambda]_{q_n}} + o\left(\frac{1}{[n]_{q_n}^2}\right). \quad (18)$$

Combining

$$\begin{aligned} C(4) &= C(3) - 3C(2) + 3C(1) - 1 \\ &= \frac{q_n^{n-\lambda}[\lambda]_{q_n}}{[n-\lambda]_{q_n}} - \frac{2q_n^{n-\lambda-1}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}} \\ &\quad + \frac{q_n^{n-\lambda-2}[\lambda+2]_{q_n}}{[n-\lambda-2]_{q_n}} + \frac{q_n^{2n-2\lambda-3}[\lambda+2]_{q_n}[\lambda+1]_{q_n}}{[n-\lambda-2]_{q_n}[n-\lambda-1]_{q_n}} \\ &\quad + \frac{q_n^{2n-2\lambda-2}[\lambda+2]_{q_n}[\lambda]_{q_n}}{[n-\lambda-2]_{q_n}[n-\lambda]_{q_n}} - \frac{2q_n^{2n-2\lambda-1}[\lambda]_{q_n}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}[n-\lambda]_{q_n}} \\ &\quad + o\left(\frac{1}{[n]_{q_n}^2}\right) := \frac{q_n^{n-\lambda}[\lambda]_{q_n}}{[n-\lambda]_{q_n}} - \frac{2q_n^{n-\lambda-1}[\lambda+1]_{q_n}}{[n-\lambda-1]_{q_n}} \\ &\quad + \frac{q_n^{n-\lambda-2}[\lambda+2]_{q_n}}{[n-\lambda-2]_{q_n}} + I = \frac{q_n^{n-\lambda-2}}{\prod_{i=0}^2 [n-\lambda-i]_{q_n}} \\ &\quad \cdot \left([\lambda+2]_{q_n}[n-\lambda]_{q_n}[n-\lambda-1]_{q_n} \right. \\ &\quad \left. + q_n^2[\lambda]_{q_n}[n-\lambda-2]_{q_n}[n-\lambda-1]_{q_n} \right. \\ &\quad \left. - 2q_n[\lambda+1]_{q_n}[n-\lambda-2]_{q_n}[n-\lambda]_{q_n}\right) + I \\ &= \frac{q_n^{n-\lambda-2}}{\prod_{i=0}^2 [n-\lambda-i]_{q_n}} \left([n-\lambda]_{q_n}([\lambda+2]_{q_n}[n-\lambda-1]_{q_n} \right. \\ &\quad \left. - q_n[\lambda+1]_{q_n}[n-\lambda-2]_{q_n}) - q_n[n-\lambda-2]_{q_n} \right. \\ &\quad \left. \cdot ([\lambda+1]_{q_n}[n-\lambda]_{q_n} - q_n[\lambda]_{q_n}[n-\lambda-1]_{q_n})\right) + I \\ &= \frac{q_n^{n-\lambda-2}}{\prod_{i=0}^2 [n-\lambda-i]_{q_n}} \left([n-\lambda]_{q_n}[n]_{q_n} - q_n[n-\lambda-2]_{q_n}[n]_{q_n}\right) + I \\ &= \frac{q_n^{n-\lambda-2}[n]_{q_n}(1+q_n^{n-\lambda-1})}{\prod_{i=0}^2 [n-\lambda-i]_{q_n}} + I, \end{aligned} \quad (19)$$

$$\lim_{n \rightarrow \infty} [n]_{q_n}^2 I = (3\lambda+2)a^2,$$

we have $\lim_{n \rightarrow \infty} [n]_{q_n}^2 \mathcal{E}_{n,\lambda}^{q_n}((t-x)^3; x) = 3(\lambda+1)a^2x^3 + ax^3$. This means that equation (15) is obtained. Thus, the proof of Lemma 5 is accomplished.

Lemma 6. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$. Then, for each $x \in \mathbb{R}^+$, the following relations

$$\mathcal{E}_{n,\lambda}^{q_n}(|(t-x)_{q_n}^2|; x) \leq O\left(\frac{1}{[n]_{q_n}}\right), \quad (20)$$

$$\mathcal{E}_{n,\lambda}^{q_n}(|(t-x)_{q_n}^2|(t-x)^4; x) \leq O\left(\frac{1}{[n]_{q_n}^3}\right), \quad (21)$$

hold.

Proof. By the definition of q -power basis, we have $(t-x)_{q_n}^2 = (t-x)(t-q_n x) = (t-x)^2 + (1-q_n)x(t-x) = (t-x)^2 + x((1-q_n)/([n]_{q_n})) (t-x)$. Thus, we can write $|(t-x)_{q_n}^2| \leq (t-x)^2 + x((1-q_n)/([n]_{q_n})) |t-x|$. Using the monotonicity of the operators $\mathcal{E}_{n,\lambda}^{q_n}$ and the Cauchy-Schwarz inequality, we can get

$$\begin{aligned}
\mathcal{G}_{n,\lambda}^{q_n} \left(\left| (t-x)_{q_n}^2 \right| ; x \right) &\leq \mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^2 ; x \right) \\
&+ x \frac{1-q_n^n}{[n]_{q_n}} \mathcal{G}_{n,\lambda}^{q_n} (|t-x| ; x) \leq \mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^2 ; x \right) \\
&+ x \frac{1-q_n^n}{[n]_{q_n}} \sqrt{\mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^2 ; x \right)} \leq O \left(\frac{1}{[n]_{q_n}} \right) \\
&+ O \left(\frac{1}{[n]_{q_n}^{3/2}} \right) = O \left(\frac{1}{[n]_{q_n}} \right).
\end{aligned} \tag{22}$$

The inequality (21) can be get in the same way. Using the monotonicity of the operators $\mathcal{G}_{n,\lambda}^{q_n}$, (16) and (17), Cauchy-Schwarz inequality, respectively, we can obtain

$$\begin{aligned}
\mathcal{G}_{n,\lambda}^{q_n} \left(\left| (t-x)_{q_n}^2 \right| (t-x)^4 ; x \right) &\leq \mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^6 ; x \right) \\
&+ \frac{x}{[n]_{q_n}} \mathcal{G}_{n,\lambda}^{q_n} (|t-x|^5 ; x) \leq \mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^6 ; x \right) \\
&+ \frac{x}{[n]_{q_n}} \sqrt{\mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^4 ; x \right) \mathcal{G}_{n,\lambda}^{q_n} \left((t-x)^6 ; x \right)} \leq O \left(\frac{1}{[n]_{q_n}^3} \right) \\
&+ O \left(\frac{1}{[n]_{q_n}^{7/2}} \right) = O \left(\frac{1}{[n]_{q_n}^3} \right).
\end{aligned} \tag{23}$$

Thus, we complete the proof.

3. Local Approximation

Let $C_B(\mathbb{R}^+)$ be the space of all real-valued continuous bounded functions f on \mathbb{R}^+ , endowed with the norm $\|f\| = \sup_{x \in \mathbb{R}^+} |f(x)|$. Moreover, the Peetre's \mathcal{K} -functional is defined by

$$\mathcal{K}_2(f; \delta) = \inf_{h \in C_B^2(\mathbb{R}^+)} \left\{ \|f - h\| + \delta \|h''\| \right\}, \tag{24}$$

where $C_B^2(\mathbb{R}^+) := \{h \in C_B(\mathbb{R}^+) : h', h'' \in C_B(\mathbb{R}^+)\}$. By ([14], p. 177, Theorem 2.4), there exists an absolute constant $C > 0$ such that

$$\mathcal{K}_2(f; \delta) \leq C \omega_2(f; \sqrt{\delta}), \tag{25}$$

where $\delta > 0$ and the second-order modulus of smoothness is defined by

$$\omega_2(f; \sqrt{\delta}) = \sup_{0 < t \leq \delta} \sup_{x \in \mathbb{R}^+} |f(x+2t) - 2f(x+t) + f(x)|, \quad f \in C_B(\mathbb{R}^+). \tag{26}$$

The usual modulus of smoothness is defined by

$$\omega(f; \delta) = \sup_{0 < t \leq \delta} \sup_{x \in \mathbb{R}^+} |f(x+t) - f(x)|, \quad f \in C_B(\mathbb{R}^+). \tag{27}$$

Theorem 7. *Let $f \in C_B(\mathbb{R}^+)$, $q \in (0, 1)$, $\lambda = 1, 2, \dots$. Then for all $x \in \mathbb{R}^+$ and $n \geq \lambda + 1$, there exists an absolute $C_1 = 4C$ such that*

$$|\mathcal{G}_{n,\lambda}^q(f; x) - f(x)| \leq C_1 \omega_2 \left(f; \sqrt{A^2(x) + B(x)} \right) + \omega(f; |A(x)|). \tag{28}$$

Proof. Using Definition 2, we easily obtain $|\mathcal{G}_{n,\lambda}^q(f; x)| \leq \|f\|$ for all $f \in C_B(\mathbb{R}^+)$. Next, we define new operators by

$$\mathcal{P}_{n,\lambda}^q(f; x) = \mathcal{G}_{n,\lambda}^q(f; x) + f(x) - f(A(x) + x), \quad x \in \mathbb{R}^+. \tag{29}$$

We can get $\mathcal{P}_{n,\lambda}^q(t-x; x) = \mathcal{G}_{n,\lambda}^q(t-x; x) - A(x) = 0$ and $|\mathcal{P}_{n,\lambda}^q(f; x)| \leq 3\|f\|$ for all $f \in C_B(\mathbb{R}^+)$. For $x, t \in \mathbb{R}^+$ and $h \in C_B^2(\mathbb{R}^+)$, using Taylor's expansion, we can write

$$h(t) = h(x) + h'(x)(t-x) + \int_x^t h''(u)(t-u)du. \tag{30}$$

Hence,

$$\begin{aligned}
|\mathcal{P}_{n,\lambda}^q(h; x) - h(x)| &= |h'(x) \mathcal{P}_{n,\lambda}^q(t-x; x) \\
&+ \mathcal{P}_{n,\lambda}^q \left(\int_x^t h''(u)(t-u)du ; x \right)| \\
&\leq \left| \mathcal{P}_{n,\lambda}^q \left(\int_x^t h''(u)(t-u)du ; x \right) \right| \\
&\leq \left| \mathcal{G}_{n,\lambda}^q \left(\int_x^t h''(u)(t-u)du ; x \right) \right. \\
&\quad \left. - \int_x^{A(x)+x} h''(u)(A(x)+x-u)du \right| \leq \mathcal{G}_{n,\lambda}^q \\
&\quad \cdot \left(\int_x^t |h''(u)|(t-u)du ; x \right) \\
&\quad + \left| \int_x^{A(x)+x} |h''(u)|(A(x)+x-u)du \right| \\
&\leq (B(x) + A^2(x)) \|h''\|.
\end{aligned} \tag{31}$$

Further, for all $h \in C_B^2(\mathbb{R}^+)$, we can write

$$\begin{aligned} |\mathcal{G}_{n,\lambda}^q(f; x) - f(x)| &= |\mathcal{P}_{n,\lambda}^q(f; x) + f(A(x) + x) - 2f(x)| \\ &\leq |\mathcal{P}_{n,\lambda}^q(f - h; x) - (f - h)(x)| \\ &\quad + |\mathcal{P}_{n,\lambda}^q(h; x) - h(x)| + |f(A(x) + x) \\ &\quad - f(x)| \leq 4\|f - h\| + (A^2(x) + B(x))\|h''\| \\ &\quad + \omega(f; |A(x)|). \end{aligned} \tag{32}$$

Taking infimum over all h and using (25), we can get the desired conclusion.

Corollary 8. *Let $f \in C_B(\mathbb{R}^+)$, $q \in (0, 1)$. Then for all $x \in \mathbb{R}^+$ and $n \geq 1$, there exists an absolute $C_1 = 4C$ such that*

$$|\mathcal{G}_{n,0}^q(f; x) - f(x)| \leq C_1 \omega_2\left(f; \sqrt{B(x)}\right). \tag{33}$$

Corollary 9. *Let $f \in C_B(\mathbb{R}^+)$, $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$, the limit*

$$\lim_{n \rightarrow \infty} \mathcal{G}_{n,\lambda}^{q_n}(f; x) = f(x) \tag{34}$$

holds for all $x \in \mathbb{R}^+$.

4. Rate of Convergence

As is known, if f is not uniformly continuous on \mathbb{R}^+ , we cannot get $\omega(f; \delta) \rightarrow 0$ as $\delta \rightarrow 0$. To research the rate of convergence of the operators $\mathcal{G}_{n,\lambda}^{q_n}$ on \mathbb{R}^+ , we recall the weighted modulus of continuity $\Omega(f; \delta)$ (see [15] or [16]). First, we shall consider the following three classes of functions:

$$B_2(\mathbb{R}^+) := \{f : \mathbb{R}^+ \rightarrow \mathbb{R}; |f(x)| \leq C_f(1 + x^2)\}, \tag{35}$$

where C_f is a positive constant which depends only on f ,

$$\begin{aligned} C_2(\mathbb{R}^+) &:= \{f \in B_2(\mathbb{R}^+): f \text{ is continuous}\}, \\ C_2^0(\mathbb{R}^+) &:= \left\{f \in B_2(\mathbb{R}^+): \lim_{x \rightarrow \infty} \frac{f(x)}{1 + x^2} \text{ is finite}\right\}. \end{aligned} \tag{36}$$

The space $C_2^0(\mathbb{R}^+)$ is a linear normed space endowed with the norm $\|f\|_2 = \sup_{x \in \mathbb{R}^+} (|f(x)|/(1 + x^2))$. For any $f \in C_2(\mathbb{R}^+)$, $\Omega(f; \delta)$ is defined by

$$\Omega(f; \delta) = \sup_{0 \leq t < \delta, x \in \mathbb{R}^+} \frac{|f(x+t) - f(x)|}{(1+t^2)(1+x^2)}, \tag{37}$$

if $f \in C_2^0(\mathbb{R}^+)$, then $\Omega(f; \delta)$ has the following properties:

$$(i) \lim_{\delta \rightarrow 0^+} \Omega(f; \delta) = 0$$

$$(ii) \Omega(f; \rho\delta) \leq 2(1 + \rho)(1 + \delta^2)\Omega(f; \delta), \rho \in \mathbb{R}^+$$

In [17–19], the following inequality was introduced and used

$$\begin{aligned} |f(t) - f(x)| &\leq (1 + (t-x)^2)(1+x^2)\Omega(f; |t-x|) \\ &\leq 2\left(1 + \frac{|t-x|}{\delta}\right)(1+\delta^2)(1+(t-x)^2)(1+x^2)\Omega(f; \delta) \\ &\leq \begin{cases} 4(1+\delta^2)^2(1+x^2)\Omega(f; \delta), & |t-x| < \delta, \\ 4(1+\delta^2)^2(1+x^2)\frac{(t-x)^4}{\delta^4}\Omega(f; \delta), & |t-x| \geq \delta. \end{cases} \end{aligned} \tag{38}$$

Meanwhile, we introduce the modulus of continuity of $f \in C(0, \mathbf{a})$ ($\mathbf{a} > 0$) by $\omega_{\mathbf{a}}(f; \delta) = \sup_{|t-x| \leq \delta, x, t \in (0, \mathbf{a}]}$ $|f(t) - f(x)|$.

The following is a theorem of the rate of convergence for the operators $\mathcal{G}_{n,\lambda}^q$:

Theorem 9. *Let $f \in C_2(\mathbb{R}^+)$, $\lambda \in \mathbb{N}$, $n = \lambda + 1, \lambda + 2, \dots$, $\mathbf{a} \in \mathbb{R}^+$, we have*

$$\|\mathcal{G}_{n,\lambda}^q(f; x) - f\|_{C(0, \mathbf{a}]} \leq 4C_f(1 + \mathbf{a}^2)B(\mathbf{a}) + 2\omega_{\mathbf{a}+1}\left(f, \sqrt{B(\mathbf{a})}\right). \tag{39}$$

Proof. For any $x \in (0, \mathbf{a}]$, $t \in (\mathbf{a} + 1, \infty)$, we can easily obtain $1 \leq (t - \mathbf{a})^2 \leq (t - x)^2$, therefore

$$\begin{aligned} |f(t) - f(x)| &\leq C_f(2 + x^2 + t^2) \\ &\leq C_f(2 + 3x^2 + 2(t-x)^2) \\ &\leq 4C_f(1 + \mathbf{a}^2)(t-x)^2. \end{aligned} \tag{40}$$

If $t \in (0, \mathbf{a} + 1)$, for any $\delta \in \mathbb{R}^+$, we can obtain

$$|f(t) - f(x)| \leq \omega_{\mathbf{a}+1}(f; |t-x|) \leq \left(1 + \frac{|t-x|}{\delta}\right)\omega_{\mathbf{a}+1}(f; \delta). \tag{41}$$

Combining (39) with (40), we can get

$$|f(t) - f(x)| \leq 4C_f(1 + \mathbf{a}^2)(t-x)^2 + \left(1 + \frac{|t-x|}{\delta}\right)\omega_{\mathbf{a}+1}(f; \delta). \tag{42}$$

By Cauchy-Schwarz's inequality and Corollary 4, for all $x \in (0, \mathbf{a}]$, we have

$$\begin{aligned}
 |\mathcal{G}_{n,\lambda}^q(f;x) - f(x)| &\leq \mathcal{G}_{n,\lambda}^q(|f(t) - f(x)|;x) \\
 &\leq 4C_f(1 + \mathbf{a}^2)\mathcal{G}_{n,\lambda}^q((t-x)^2;x) + \mathcal{G}_{n,\lambda}^q\left(\left(1 + \frac{|t-x|}{\delta}\right);x\right)\omega_{\mathbf{a}+1}(f,\delta) \\
 &\leq 4C_f(1 + \mathbf{a}^2)\mathcal{G}_{n,\lambda}^q((t-x)^2;x) + \omega_{\mathbf{a}+1}(f,\delta)\left(1 + \frac{1}{\delta}\sqrt{\mathcal{G}_{n,\lambda}^q((t-x)^2;x)}\right) \\
 &\leq 4C_f(1 + \mathbf{a}^2)B(x) + \omega_{\mathbf{a}+1}(f,\delta)\left(1 + \frac{1}{\delta}\sqrt{B(x)}\right) \\
 &\leq 4C_f(1 + \mathbf{a}^2)B(\mathbf{a}) + \omega_{\mathbf{a}+1}(f,\delta)\left(1 + \frac{1}{\delta}\sqrt{B(\mathbf{a})}\right).
 \end{aligned} \tag{43}$$

By choosing $\delta = \sqrt{B(\mathbf{a})}$ and taking supremum over all $x \in (0, \mathbf{a}]$, we can get the desired results.

Theorem 10. $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$, and $q_n^n \rightarrow a$ as $n \rightarrow \infty$ and $f \in C_2^0(\mathbb{R}^+)$; then, there exists a positive integer $N \in \mathbb{N}_+$ such that for all $n > N$ and $v > 0$, the inequality

$$\sup_{x \in \mathbb{R}^+} \frac{|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)|}{(1+x^2)^v} \leq 64\Omega\left(f; \frac{1}{\sqrt{[n]_{q_n}}}\right), \tag{44}$$

holds.

Proof. Using (14) and (16), there exists a positive integer $N \in \mathbb{N}_+$ such that for all $n > N$,

$$\begin{aligned}
 \mathcal{G}_{n,\lambda}^{q_n}((t-x)^2;x) &\leq \frac{9}{4[n]_{q_n}}, \\
 \mathcal{G}_{n,\lambda}^{q_n}((t-x)^4;x) &\leq 1.
 \end{aligned} \tag{45}$$

By Cauchy-Schwarz's inequality, we can get

$$\mathcal{G}_{n,\lambda}^{q_n}(|t-x|;x) \leq \sqrt{\mathcal{G}_{n,\lambda}^{q_n}((t-x)^2;x)} \leq \frac{3}{2\sqrt{[n]_{q_n}}}, \tag{46}$$

$$\begin{aligned}
 \mathcal{G}_{n,\lambda}^{q_n}(|t-x|^3;x) &\leq \sqrt{\mathcal{G}_{n,\lambda}^{q_n}((t-x)^2;x)}\sqrt{\mathcal{G}_{n,\lambda}^{q_n}((t-x)^4;x)} \\
 &\leq \frac{3}{2\sqrt{[n]_{q_n}}}.
 \end{aligned} \tag{47}$$

Since $\mathcal{G}_{n,\lambda}^{q_n}$ is linear and positive, using (38), (46), and (47), for any $\delta \in (0, 1)$, we can obtain

$$\begin{aligned}
 |\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)| &\leq 16(1+x^2)\Omega(f;\delta) \\
 &\cdot \left(1 + \frac{\mathcal{G}_{n,\lambda}^{q_n}(|t-x|+|t-x|^3;x)}{\delta}\right) \\
 &\leq 16(1+x^2)\left(1 + \frac{3}{\delta\sqrt{[n]_{q_n}}}\right)\Omega(f;\delta).
 \end{aligned} \tag{48}$$

Taking $\delta = 1/\sqrt{[n]_{q_n}}$, we complete the proof.

5. Weighted Approximation

In this section, we will discuss the weighted approximation theorems for the operators $\mathcal{G}_{n,\lambda}^{q_n}$.

Theorem 11. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$, and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$ and $f \in C_2^0(\mathbb{R}^+)$, we have

$$\lim_{n \rightarrow \infty} \|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f\|_2 = 0. \tag{49}$$

Proof. Using Korovkin's theorem (see [20]), it is sufficient to verify the following three conditions:

$$\lim_{n \rightarrow \infty} \|\mathcal{G}_{n,\lambda}^{p_n, q_n}(t^k) - x^k\|_2 = 0, \quad k = 0, 1, 2. \tag{50}$$

Since $\mathcal{G}_{n,\lambda}^{p_n, q_n}(1;x) = 1$, (51) holds for $k = 1$. By Lemma 3 and $\lim_{n \rightarrow \infty} ([n]_{q_n} / [n - \lambda]_{q_n}) = \lim_{n \rightarrow \infty} ([n]_{q_n} / [n - \lambda - 1]_{q_n}) = 1$, we can easily obtain

$$\begin{aligned} \|\mathcal{G}_{n,\lambda}^{q_n}(t;x) - x\|_2 &= \sup_{x \in \mathbb{R}^+} \frac{1}{1+x^2} \left| \mathcal{G}_{n,\lambda}^{q_n}(t;x) - x \right| \\ &= \sup_{x \in \mathbb{R}^+} \frac{x}{1+x^2} \left| \frac{[n]_{q_n}}{[n-\lambda]_{q_n}} - 1 \right| \\ &\leq \left| \frac{[n]_{q_n}}{[n-\lambda]_{q_n}} - 1 \right| \rightarrow 0, n \rightarrow \infty. \end{aligned}$$

$$\begin{aligned} \|\mathcal{G}_{n,\lambda}^{q_n}(t^2;x) - x^2\|_2 &= \sup_{x \in \mathbb{R}^+} \frac{1}{1+x^2} \left| \mathcal{G}_{n,\lambda}^{q_n}(t^2;x) - x^2 \right| \\ &= \sup_{x \in \mathbb{R}^+} \frac{x^2}{1+x^2} \left| \frac{[n]_{q_n}^2}{[n-\lambda]_{q_n}[n-\lambda-1]_{q_n}} - 1 \right| \\ &\leq \left| \frac{[n]_{q_n}^2}{[n-\lambda]_{q_n}[n-\lambda-1]_{q_n}} - 1 \right| \rightarrow 0, n \rightarrow \infty. \end{aligned} \tag{51}$$

We can draw the final conclusion through all the estimates above.

Theorem 12. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow 1$ as $n \rightarrow \infty$ and $f \in C_2^0(\mathbb{R}^+)$. For any $f \in C_2^0(\mathbb{R}^+)$ and $v > 0$, we have

$$\limsup_{n \rightarrow \infty} \sup_{x \in \mathbb{R}^+} \frac{|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)|}{(1+x^2)^{1+v}} = 0. \tag{52}$$

Proof. Let $x_0 \in \mathbb{R}^+$ be arbitrary but fixed. Then,

$$\begin{aligned} \sup_{x \in \mathbb{R}^+} \frac{|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)|}{(1+x^2)^{1+v}} &\leq \sup_{x \in (0,x_0)} \frac{|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)|}{(1+x^2)^{1+v}} \\ &\quad + \sup_{x \in [x_0,\infty)} \frac{|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x)|}{(1+x^2)^{1+v}} \\ &\leq \|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f\|_{C(0,x_0)} \\ &\quad + \|f\|_2 \sup_{x \in [x_0,\infty)} \frac{|\mathcal{G}_{n,\lambda}^{q_n}((1+t^2);x)|}{(1+x^2)^{1+v}} \\ &\quad + \sup_{x \in [x_0,\infty)} \frac{|f(x)|}{(1+x^2)^{1+v}}. \end{aligned} \tag{53}$$

Since $|f(x)| \leq \|f\|_2(1+x^2)$, we have $\sup_{x \in [x_0,\infty)} (|f(x)|)/(1+x^2)^{1+v} \leq (\|f\|_2)/(1+x_0^2)^v$. Let $\varepsilon > 0$ be arbitrary, we can choose x_0 to be so large that

$$\frac{\|f\|_2}{(1+x_0^2)^v} < \varepsilon. \tag{54}$$

In view of Corollary 9, while $x \in [x_0,\infty)$, we obtain

$$\begin{aligned} \|f\|_2 \lim_{n \rightarrow \infty} \frac{|\mathcal{G}_{n,\lambda}^{q_n}((1+t^2);x)|}{(1+x^2)^{1+v}} &= \|f\|_2 \frac{(1+x^2)}{(1+x^2)^{1+v}} = \frac{\|f\|_2}{(1+x^2)^v} \\ &\leq \frac{\|f\|_2}{(1+x_0^2)^v} < \varepsilon. \end{aligned} \tag{55}$$

Using Theorem 9, we can see that the first term of the inequality (53) implies that

$$\|\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f\|_{C(0,x_0)} < \varepsilon, \text{ as } n \rightarrow \infty. \tag{56}$$

Combining (53)–(56), we get the desired result.

6. Voronovskaja Type Theorems

As is known, Voronovskaja type theorems of many positive operators are widely researched and discussed (see [21–28]). In this section, we will discuss the quantitative q -Voronovskaja theorem and q -Grüss-Voronovskaja theorem.

6.1. Quantitative q -Voronovskaja Theorem. In this subsection, we will obtain the Quantitative q -Voronovskaja theorem and Voronovskaja type asymptotic formula for the operators $\mathcal{G}_{n,\lambda}^{q_n}$.

Theorem 13. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$ and $f \in C_2^0(\mathbb{R}^+)$ satisfy $D_{q_n}^2 f \in C_2^0(\mathbb{R}^+)$. Then, the inequality

$$\begin{aligned} &\left| [n]_{q_n} \left(\mathcal{G}_{n,\lambda}^{q_n}(f;x) - f(x) - D_{q_n} f(x) A_n(x) \right) \right. \\ &\quad \left. - \frac{[n]_{q_n} B_n(x) + (1-q_n^n) A_n(x) x}{[2]_{q_n}!} D_{q_n}^2 f(x) \right| \\ &\leq O(1) \Omega \left(D_{q_n}^2 f; \frac{1}{\sqrt{[n]_{q_n}}} \right), \end{aligned} \tag{57}$$

holds for any $x \in \mathbb{R}^+$.

Proof. Using the q -Taylor expansion formula (58), we have

$$\begin{aligned} f(t) &= f(x) + D_{q_n} f(x)(t-x) + \frac{D_{q_n}^2 f(\xi)}{[2]_{q_n}!} (t-x)_{q_n}^2 \\ &= f(x) + D_{q_n} f(x)(t-x) + \frac{D_{q_n}^2 f(x)}{[2]_{q_n}!} (t-x)_{q_n}^2 + R_2(t,x;q_n), \end{aligned} \tag{58}$$

where ξ is a number between t and x and

$$R_2(t,x;q_n) = \frac{D_{q_n}^2 f(\xi) - D_{q_n}^2 f(x)}{[2]_{q_n}!} (t-x)_{q_n}^2. \tag{59}$$

Applying the operators $\mathcal{G}_{n,\lambda}^{q_n}$ to both sides of (58) and using $(t-x)_{q_n}^2 = (t-x)^2 + ((1-q_n^n)/([n]_{q_n})) (t-x)x$, we have

$$\begin{aligned} & \left| \mathcal{G}_{n,\lambda}^{q_n}(f; x) - f(x) - D_{q_n} f(x) A_n(x) - \frac{D_{q_n}^2 f(x)}{[2]_{q_n}!} \mathcal{G}_{n,\lambda}^{q_n}((t-x)_{q_n}^2; x) \right| \\ &= \left| \mathcal{G}_{n,\lambda}^{q_n}(f; x) - f(x) - D_{q_n} f(x) A_n(x) \right. \\ & \quad \left. - \frac{B_n(x) + \left(((1-q_n^n)A_n(x))/([n]_{q_n}) \right) x}{[2]_{q_n}!} D_{q_n}^2 f(x) \right| \\ &\leq \mathcal{G}_{n,\lambda}^{q_n}(|R_2(t, x; q_n)|; x). \end{aligned} \quad (60)$$

Multiplying the above inequality by $[n]_{q_n}$, we have

$$\begin{aligned} & \left| [n]_{q_n} \left(\mathcal{G}_{n,\lambda}^{q_n}(f; x) - f(x) - D_{q_n} f(x) A_n(x) \right) \right. \\ & \quad \left. - \frac{[n]_{q_n} B_n(x) + (1-q_n^n) A_n(x) x}{[2]_{q_n}!} D_{q_n}^2 f(x) \right| \\ &\leq [n]_{q_n} \mathcal{G}_{n,\lambda}^{q_n}(|R_2(t, x; q_n)|; x). \end{aligned} \quad (61)$$

Furthermore,

$$\begin{aligned} \left| \frac{D_{q_n}^2 f(\xi) - D_{q_n}^2 f(x)}{[2]_{q_n}!} \right| &\leq \frac{1}{[2]_{q_n}!} \Omega(D_{q_n}^2 f; |\xi - x| (1 + (\xi - x)^2) (1 + x^2)) \\ &\leq \frac{1}{[2]_{q_n}!} \Omega(D_{q_n}^2 f; |t - x| (1 + (t - x)^2) (1 + x^2)) \\ &\leq \frac{2}{[2]_{q_n}!} \left(1 + \frac{|t - x|}{\delta} \right) (1 + (t - x)^2) \\ &\quad \cdot (1 + \delta^2) (1 + x^2) \Omega(D_{q_n}^2 f; \delta) \\ &\leq 16(1 + x^2) \left(1 + \frac{(t - x)^4}{\delta^4} \right) \Omega(D_{q_n}^2 f; \delta), \end{aligned} \quad (62)$$

for all $\delta \in (0, 1)$. Hence,

$$|R_2(t, x; q_n)| \leq 16(1 + x^2) \left(|t - x|_{q_n}^2 + \frac{|(t - x)_{q_n}^2| (t - x)^4}{\delta^4} \right) \Omega(D_{q_n}^2 f; \delta). \quad (63)$$

Using (20), (21), for any $x \in \mathbb{R}^+$, we can write

$$\begin{aligned} \mathcal{G}_{n,\lambda}^{q_n}(|R_2(t, x; q_n)|; x) &\leq 16(1 + x^2) \left(\mathcal{G}_{n,\lambda}^{q_n}(|(t - x)_{q_n}^2|; x) \right. \\ & \quad \left. + \frac{\mathcal{G}_{n,\lambda}^{q_n}(|(t - x)_{q_n}^2| (t - x)^4; x)}{\delta^4} \right) \Omega(D_{q_n}^2 f; \delta) \\ &\leq \left(O\left(\frac{1}{[n]_{q_n}}\right) + \frac{1}{\delta^4} O\left(\frac{1}{[n]_{q_n}^3}\right) \right) \Omega(D_{q_n}^2 f; \delta). \end{aligned} \quad (64)$$

If we choose $\delta = 1/\sqrt{[n]_{q_n}}$, we can easily get

$$[n]_{q_n} \mathcal{G}_{n,\lambda}^{q_n}(|R_2(t, x; q_n)|; x) \leq O(1) \Omega\left(D_{q_n}^2 f; \frac{1}{\sqrt{[n]_{q_n}}}\right), \quad (65)$$

which completes the proof of Theorem 13.

Corollary 14. Let (q_n) be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$ and $f \in C_2^0(\mathbb{R}^+)$ satisfy $f'' \in C_2^0(\mathbb{R}^+)$. Then, we can obtain

$$\lim_{n \rightarrow \infty} [n]_{q_n} \left(\mathcal{G}_{n,\lambda}^{q_n}(f; x) - f(x) \right) = \lambda x f'(x) + \frac{1}{2} a x^2 f''(x). \quad (66)$$

6.2. q -Grüss-Voronovskaja Theorem. In this subsection, we will obtain the q -Grüss-Voronovskaja theorem and its quantitative version for the operators $\mathcal{G}_{n,\lambda}^{q_n}$.

Theorem 15. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$ and $f, g \in C_2^0(\mathbb{R}^+)$ satisfy $D_{q_n}^2 f, D_{q_n}^2 g, D_{q_n}^2(fg) \in C_2^0(\mathbb{R}^+)$. Then, the following inequality

$$\begin{aligned} & [n]_{q_n} \left| \mathcal{G}_{n,\lambda}^{q_n}(fg; x) - \mathcal{G}_{n,\lambda}^{q_n}(f; x) \mathcal{G}_{n,\lambda}^{q_n}(g; x) \right. \\ & \quad \left. - \frac{D_{q_n}(f(q_n x))(D_{q_n}(g(x)) + D_{q_n}(g(q_n x)))}{[2]_{q_n}!} \mathcal{G}_{n,\lambda}^{q_n} \right. \\ & \quad \cdot \left((t - x)_{q_n}^2; x \right) \leq O(1) \Omega\left(D_{q_n}^2(fg); \frac{1}{\sqrt{[n]_{q_n}}}\right) \\ & \quad + O(1) \left(\|f\|_2 + O\left(\frac{1}{[n]_{q_n}}\right) (\|D_{q_n} f\|_2 + \|D_{q_n}^2 f\|_2) \right) \Omega \\ & \quad \cdot \left(D_{q_n}^2 g; \frac{1}{\sqrt{[n]_{q_n}}} \right) + O(1) \left(\|g\|_2 + O\left(\frac{1}{[n]_{q_n}}\right) \right. \\ & \quad \cdot \left(\|D_{q_n} g\|_2 + \|D_{q_n}^2 g\|_2 \right) \Omega\left(D_{q_n}^2 f; \frac{1}{\sqrt{[n]_{q_n}}}\right) \\ & \quad + O\left(\frac{1}{[n]_{q_n}}\right) \left(\|D_{q_n} f\|_2 + \|D_{q_n}^2 f\|_2 \right) \left(\|D_{q_n} g\|_2 + \|D_{q_n}^2 g\|_2 \right) \\ & \quad \left. + O\left(\frac{1}{[n]_{q_n}}\right) \Omega\left(D_{q_n}^2 f; \frac{1}{\sqrt{[n]_{q_n}}}\right) \Omega\left(D_{q_n}^2 g; \frac{1}{\sqrt{[n]_{q_n}}}\right), \end{aligned} \quad (67)$$

holds for any $x \in \mathbb{R}^+$.

Proof. Using the equalities

$$D_{q_n}(f(x)g(x)) = D_{q_n}(f(x))g(x) + f(q_n x)D_{q_n}(g(x)),$$

$$\begin{aligned} D_{q_n}^2(f(x)g(x)) &= D_{q_n}^2(f(x))g(x) + D_{q_n}(f(q_n x))D_{q_n}(g(x)) \\ & \quad + f(q_n x)D_{q_n}^2(g(x)) + D_{q_n}(f(q_n x))D_{q_n}(g(q_n x)), \end{aligned} \quad (68)$$

by simple computations, for $x \in \mathbb{R}^+$ and $n = \lambda + 1, \dots$, we can obtain

$$\begin{aligned}
& \mathcal{E}_{n,\lambda}^{q_n}(fg; x) - \mathcal{E}_{n,\lambda}^{q_n}(f; x)\mathcal{E}_{n,\lambda}^{q_n}(g; x) = \mathcal{E}_{n,\lambda}^{q_n}(fg; x) \\
& - f(x)g(x) - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(f(x)g(x)) \\
& - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(f(x)g(x)) \\
& - g(x)\left(\mathcal{E}_{n,\lambda}^{q_n}(f; x) - f(x) - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(f(x))\right. \\
& \left. - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(f(x))\right) \\
& - \mathcal{E}_{n,\lambda}^{q_n}(f; x)\left(\mathcal{E}_{n,\lambda}^{q_n}(g; x) - g(x) - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(g(x))\right. \\
& \left. - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(g(x))\right) \\
& + \frac{D_{q_n}(f(q_n x))(D_{q_n}(g(x)) + D_{q_n}(g(q_n x)))}{[2]_{q_n}!} \mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right) \\
& - D_{q_n}^2(g(x))\left(\mathcal{E}_{n,\lambda}^{q_n}(f; x) - f(x)\right) \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} \\
& + D_{q_n}^2(g(x))D_{q_n}(f(x)) \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} (q_n - 1)x \\
& - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)\left(\mathcal{E}_{n,\lambda}^{q_n}(f; x) - f(q_n x)\right)D_{q_n}(g(x)).
\end{aligned} \tag{69}$$

Hence, we can write

$$\begin{aligned}
& \mathcal{E}_{n,\lambda}^{q_n}(fg; x) - \mathcal{E}_{n,\lambda}^{q_n}(f; x)\mathcal{E}_{n,\lambda}^{q_n}(g; x) \\
& - \frac{D_{q_n}(f(q_n x))(D_{q_n}(g(x)) + D_{q_n}(g(q_n x)))}{[2]_{q_n}!} \mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right) \\
& = \mathcal{E}_{n,\lambda}^{q_n}(fg; x) - f(x)g(x) \\
& - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(f(x)g(x)) \\
& - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(f(x)g(x)) \\
& - g(x)\left(\mathcal{E}_{n,\lambda}^{q_n}(f; x) - f(x) - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(f(x))\right. \\
& \left. - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(f(x))\right) \\
& - f(x)\left(\mathcal{E}_{n,\lambda}^{q_n}(g; x) - g(x) - \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)D_{q_n}(g(x))\right. \\
& \left. - \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} D_{q_n}^2(g(x))\right) + (f(x) \\
& - \mathcal{E}_{n,\lambda}^{q_n}(f; x))\left(\mathcal{E}_{n,\lambda}^{q_n}(g; x) - g(x)\right) \\
& + \mathcal{E}_{n,\lambda}^{q_n}(t-x; x)(q_n - 1)x D_{q_n}(f(x))D_{q_n}(g(x)) \\
& + \frac{\mathcal{E}_{n,\lambda}^{q_n}\left(\frac{(t-x)_{q_n}^2}{[2]_{q_n}}; x\right)}{[2]_{q_n}!} (q_n - 1)x D_{q_n} f(x) D_{q_n}^2 g(x) = I_1 \\
& + I_2 + I_3 + I_4 + I_5 + I_6.
\end{aligned} \tag{70}$$

By Theorem 13, for any fixed $x \in \mathbb{R}^+$, we can easily have the following estimates

$$[n]_{q_n}|I_1| \leq O(1)\Omega\left(D_{q_n}^2(fg); \frac{1}{\sqrt{[n]_{q_n}}}\right), \tag{71}$$

$$\begin{aligned}
[n]_{q_n}|I_2| & \leq |g(x)|O(1)\Omega\left(D_{q_n}^2(f); \frac{1}{\sqrt{[n]_{q_n}}}\right) \\
& \leq \|g\|_2 O(1)\Omega\left(D_{q_n}^2(f); \frac{1}{\sqrt{[n]_{q_n}}}\right),
\end{aligned} \tag{72}$$

$$\begin{aligned}
[n]_{q_n}|I_3| & \leq |f(x)|O(1)\Omega\left(D_{q_n}^2(g); \frac{1}{\sqrt{[n]_{q_n}}}\right) \\
& \leq \|f\|_2 O(1)\Omega\left(D_{q_n}^2(g); \frac{1}{\sqrt{[n]_{q_n}}}\right).
\end{aligned} \tag{73}$$

Using (14), (20), and $|q_n - 1| = (|q_n^n - 1|/[n]_{q_n}) \leq O(1/[n]_{q_n})$, we have

$$[n]_{q_n}|I_5| \leq O\left(\frac{1}{[n]_{q_n}}\right) \|D_{q_n} f\|_2 \|D_{q_n} g\|_2,$$

$$[n]_{q_n}|I_6| \leq O\left(\frac{1}{[n]_{q_n}}\right) \|D_{q_n} f\|_2 \|D_{q_n}^2 g\|_2. \tag{74}$$

Using (14), (20), and Theorem 13, we can get

$$\begin{aligned}
|\mathcal{E}_{n,\lambda}^{q_n}(f; x) - f(x)| & \leq O\left(\frac{1}{[n]_{q_n}}\right) (\|D_{q_n} f\|_2 + \|D_{q_n}^2 f\|_2) \\
& + O\left(\frac{1}{[n]_{q_n}}\right) \Omega\left(D_{q_n}^2(f); \frac{1}{\sqrt{[n]_{q_n}}}\right),
\end{aligned} \tag{75}$$

hence, we can know

$$\begin{aligned}
[n]_{q_n}|I_4| & \leq O\left(\frac{1}{[n]_{q_n}}\right) \left((\|D_{q_n} f\|_2 + \|D_{q_n}^2 f\|_2) (\|D_{q_n} g\|_2 + \|D_{q_n}^2 g\|_2) \right) \\
& + O\left(\frac{1}{[n]_{q_n}}\right) \Omega\left(D_{q_n}^2(f); \frac{1}{\sqrt{[n]_{q_n}}}\right) (\|D_{q_n} g\|_2 + \|D_{q_n}^2 g\|_2) \\
& + O\left(\frac{1}{[n]_{q_n}}\right) \Omega\left(D_{q_n}^2(g); \frac{1}{\sqrt{[n]_{q_n}}}\right) (\|D_{q_n} f\|_2 + \|D_{q_n}^2 f\|_2) \\
& + O\left(\frac{1}{[n]_{q_n}}\right) \Omega\left(D_{q_n}^2(f); \frac{1}{\sqrt{[n]_{q_n}}}\right) \Omega\left(D_{q_n}^2(g); \frac{1}{\sqrt{[n]_{q_n}}}\right).
\end{aligned} \tag{76}$$

Combining (71)–(76), we complete the proof of Theorem 15.

Corollary 16. Let $q = (q_n)$ be a sequence satisfying $q_n \in (0, 1)$, $q_n \rightarrow 1$ and $q_n^n \rightarrow a \in [0, 1]$ as $n \rightarrow \infty$ and $f, g \in C_2^0(\mathbb{R}^+)$ satisfy $f'', g'', (fg)'' \in C_2^0(\mathbb{R}^+)$. Then, the following limit equality

$$\lim_{n \rightarrow \infty} [n]_{q_n} (\mathcal{G}_{n,\lambda}^{q_n}(fg; x) - \mathcal{G}_{n,\lambda}^{q_n}(f; x)\mathcal{G}_{n,\lambda}^{q_n}(g; x)) = af'(x)g'(x)x^2, \quad (77)$$

holds for any $x \in \mathbb{R}^+$.

Data Availability

No data were used to support this study.

Conflicts of Interest

The authors declare that there are no conflicts of interest regarding the publication of this paper.

Authors' Contributions

All authors read and approved the final manuscript.

Acknowledgments

This work is supported by the National Natural Science Foundation of China (Grant No. 11626031), the Science and Technology Project of Department of Education of Jiangxi Province (No. GJJ190551), the Doctoral Research Startup Project of Jingtangshan University (No. JZB17002), the Key Natural Science Research Project in Universities of Anhui Province (Grant No. KJ2019A0572), the Philosophy and Social Sciences General Planning Project of Anhui Province of China (Grant No. AHSKYG2017D153), and the Natural Science Foundation of Anhui Province of China (Grant No. 1908085QA29).

References

- [1] A. Lupas and M. Müller, "Approximationseigenschaften der Gammaoperatoren," *Mathematische Zeitschrift*, vol. 98, no. 3, pp. 208–226, 1967.
- [2] Q. B. Cai, "Properties of convergence for a class of generalized q -Gamma operators," *Journal of Mathematical Study*, vol. 47, no. 4, pp. 388–395, 2014.
- [3] S. N. Deveci, T. Acar, and O. Alagoz, "Approximation by Gamma type operators," *Mathematical Methods in the Applied Sciences*, vol. 43, no. 5, pp. 2772–2782, 2019.
- [4] B. R. Draganov and K. G. Ivanov, "A characterization of weighted approximations by the Post-Widder and the Gamma operators, II," *Journal of Approximation Theory*, vol. 162, no. 10, pp. 1805–1851, 2010.
- [5] B. R. Draganov and K. G. Ivanov, "A characterization of weighted approximations by the Post-Widder and the Gamma operators," *Journal of Approximation Theory*, vol. 146, no. 1, pp. 3–27, 2007.
- [6] D. Özge and M. Örkücü, "On convergence properties of Gamma-Stancu operators based on q -integers," *Mathematical Inequalities & Applications*, vol. 19, no. 4, pp. 1335–1348, 2016.
- [7] X. M. Zeng, "Approximation properties of Gamma operators," *Journal of Mathematical Analysis and Applications*, vol. 311, no. 2, pp. 389–401, 2005.
- [8] Q. L. Qi, S. S. Guo, and S. X. Huang, "Strong converse inequalities for weighted simultaneous approximation by Gamma operators in $L_p(1 \leq p \leq \infty)$ Spaces," *Acta Mathematica Scientia*, vol. 28A, no. 3, pp. 537–545, 2008.
- [9] A. Aral, V. Gupta, and R. P. Agarwal, *Application of q -calculus in operator theory*, Springer, Berlin, 2013.
- [10] V. Gupta and R. P. Agarwal, *Convergence estimates in approximation theory*, Springer, New York, 2014.
- [11] V. Gupta, T. M. Rassias, P. N. Agrawal, and A. M. Acu, *Recent advances in constructive approximation theory*, Springer, New York, 2018.
- [12] T. Acar, "Quantitative q -Voronovskaya and q -Grüss-Voronovskaya-type results for q -Szász operators," *Georgian Mathematical Journal*, vol. 23, no. 4, pp. 459–468, 2016.
- [13] G. Ulusoy and T. Acar, " q -Voronovskaya type theorems for q -Baskakov operators," *Mathematical Methods in the Applied Sciences*, vol. 39, no. 12, pp. 3391–3401, 2016.
- [14] R. A. Devore and G. G. Lorentz, *Constructive Approximation*, Springer, Berlin, 1993.
- [15] N. Ispir, "On modified Baskakov operators on weighted spaces," *Turkish Journal of Mathematics*, vol. 25, pp. 355–365, 2001.
- [16] I. Yuksel and N. Ispir, "Weighted approximation by a certain family of summation integral-type operators," *Computers & Mathematics with Applications*, vol. 52, no. 10–11, pp. 1463–1470, 2006.
- [17] T. Acar, "Asymptotic formulas for generalized Szász-Mirakyan operators," *Applied Mathematics and Computation*, vol. 263, pp. 233–239, 2015.
- [18] T. Acar, A. Aral, and I. Raşa, "Approximation by k -th order modifications of Szász-Mirakyan operators," *Studia Scientiarum Mathematicarum Hungarica*, vol. 53, no. 3, pp. 379–398, 2016.
- [19] T. Acar, A. Aral, and I. Rasa, "The New Forms of Voronovskaya's Theorem in weighted spaces," *Positivity*, vol. 20, no. 1, pp. 25–40, 2016.
- [20] P. P. Korovkin, *Linear Operators and Approximation Theory*, Hindustan Publ. Corp., India, 1960.
- [21] T. Acar and A. Aral, "On pointwise convergence of q -Bernstein operators and Their q -Derivatives," *Numerical Functional Analysis and Optimization*, vol. 36, no. 3, pp. 287–304, 2014.
- [22] T. Acar, A. Aral, and I. Raşa, "Positive linear operators preserving τ and τ^2 ," *Constructive Mathematical Analysis*, vol. 2, no. 3, pp. 98–102, 2019.
- [23] T. Acar, D. Costarelli, and G. Vinti, "Linear prediction and simultaneous approximation by m -th order Kantorovich type sampling series," *Banach Journal of Mathematical Analysis*, vol. 14, no. 4, pp. 1481–1508, 2020.
- [24] T. Acar, M. Cappelletti Montano, P. Garrancho, and V. Leonessa, "Voronovskaya type results for Bernstein-Chlodovsky operators preserving e^{-2x} ," *Journal of Mathematical Analysis and Applications*, vol. 491, no. 1, article 124307, 2020.
- [25] J. Bustamante and L. Flores de Jesús, "Strong converse inequalities and quantitative Voronovskaya-type theorems for trigonometric Fejér sums," *Constructive Mathematical Analysis*, vol. 3, no. 2, pp. 53–63, 2020.

- [26] Z. Finta, “A quantitative variant of Voronovskaja’s theorem for King-type operators,” *Constructive Mathematical Analysis*, vol. 2, no. 3, pp. 124–129, 2019.
- [27] A. S. Kumar, P. N. Agrawal, and T. Acar, “Quantitative estimates for a new complex q -Durrmeyer type operators on compact disks,” *University Politehnica of Bucharest Scientific Bulletin-Series-A-Applied Mathematics and Physics*, vol. 80, no. 1, pp. 191–210, 2018.
- [28] F. Ozsarac and T. Acar, “Reconstruction of Baskakov operators preserving some exponential functions,” *Mathematical Methods in the Applied Sciences*, vol. 42, no. 16, pp. 5124–5132, 2018.